Lecture notes 1

Quantum field theory

1.1 Quantum field theory

What is the nature of the vacuum?

We have noted that in quantum theory the vacuum will fluctuate, and these
fluctuations will take the form of particle pairs that appear and disappear. Since
it is these pairs that lead to Hawking radiation and the consequent paradox, it is
vital to understand the quantum vacuum. To do this, we will review the struc-
ture of quantum field theory — the theory that emerges when we put together
quantum mechanics and special relativity. We will find however that there are
some deep unresolved difficulties with the picture of the vacuum in quantum
field theory, and these difficulties become even more severe when incorporate
gravity into the theory.

1.1.1 A theory of many particles

Let us start with nonrelativistic quantum mechanics. Consider a particle in
one dimension x. The particle is described by a wavefunction ¥ (z). Suppose
we have a device which can perform a measurement to check if this particle is
between x1 and x1+dx. The probability that the device finds the particle in this
interval is |¢)(x1)|?dx. The overall probability for the particle to be somewhere
is unity
o0
[ w@pd=1 (1.1)
—0o0
Suppose we take two measuring devices, one of which checks for the particle in
the interval (z1, 21 + dz) and the other checks for the particle in the interval
(22,22 + dx). One of these devices may find a particle, or neither may find a
particle, but it cannot be the case that both find a particle. The reason is simple:
there is only one particle overall. If the measurement collapses the wavefunction
to the location x1, then this collapsed wavefunction satisfies (1.1) around the
location x1, leaving no probability for the particle to be at 5.

We can immediately see however that this feature must fail in a relativistic
theory. Suppose the first device makes its measurement at position x; and time
t = 0. A second device at position x5 does not immediately find out that such
a measurement has been made; after all, information cannot travel faster than
the speed of light. Thus if it is possible for the second device to detect the
particle, then it must be possible to make this detection at ¢t = 0 regardless of
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whether the first device detected a particle or not. We conclude that there must
be a nonzero probability that both devices detect particles if their separation is
a spacelike interval.

Where does the second particle come from? Fortunately in a relativistic
theory this is not a problem; the process of measurement requires some energy
E, and this energy can create a particle of mass m if E > mc?. Thus a detector
may either pick up a particle which was already present, or create a new one in
the process of detection.

An immediate consequence of this observation is that relativistic quantum
theory must necessarily be a theory of many particles. But if we have more than
one particle, then we are led to the strange way in which many-particle states
are counted in quantum theory. Let us now turn to this statistics of particles.

1.1.2 Counting boson and fermion states

Let us start with classical physics. Suppose we have two balls, and we toss them
randomly into a set of two bins. There are 4 ways that the balls could land in
the bins:

(1) Both balls in bin 1
(2) Both balls in bin 2
(3) The first ball in bin 1 and the second ball in bin 2
(4) The second ball in bin 1 and the first ball in bin 2

Assuming that each outcome has the same probability, we find that the prob-
ability for the balls to end up in the same bin in 2/4 = 1/2. This way of counting,
appropriate to classical particles, is called Maxwell-Boltzmann statistics.

In quantum theory, it turns out that we need to count in a somewhat different
way. Take two identical particles, and again toss them into two bins. If these
particles are bosons, then we get the possibilities:

(1) Both particles in bin 1
(2) Both particles in bin 2
(3) One particle in bin 1 and one particle in bin 2

Thus the probability that both bosons are in the same bin is 2/3 which is
larger than the value 1/2 we had with classical particles. We say that ‘bosons
try to cluster together in the same state’. But how did we lose possibility (4),
where the two particles would have been interchanged between the bins? The
traditional argument is: “The particles are identical, so we cannot tell if they
have been interchanged. And if we cannot tell that they have been interchanged,
then we should not count their interchanged configuration as a new state.”

While this conclusion is correct, and agrees perfectly with observations, the
argument itself may not sound very convincing. We may not be able to tell
the difference between the particles, but would the particles behave differently
just because of this inability on our part? It might seem that this odd way
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(a) (b) (c)

Figure 1.1: caption ...

of counting of particle states must have its origin in the mysteries of quantum
theory. But as we will now see, many everyday classical systems exhibit the
same counting as the example of bosons above.

Consider a tank of water, as shown in fig.??(a). The surface of this water can
have ripples, which are the objects we will count. To mimic the above example
of balls thrown into bins, we discretize our system as follows. We divide the
tank into a left and a right half, to make two ‘bins’. In each bin we can have
ripples, but we allow the ripples to have discrete heights: 1mm,2mm,.... A
ripple with height 1 mm corresponds to one particle in the bin, a ripple with
height 2 mm corresponds to two particles and so on.

Now let us count all states which have a total of two ripples. We find the
possibilities:

(1) A ripple with height 2mm in the left bin.

(2) A ripple with height 2mm in the right bin.

(3) A ripple with height 1 mm in the left bin and a ripple with height 1 mm
in the right bin.

We see that the counting is just like the one for bosons, though there is
nothing quantum about this problem! A little reflection shows how this example
of ripples differers from the example of classical balls in bins. The balls were
objects that could be put in different places. But the ripples are not really
‘objects’; they are just deformations of an underlying medium — the water in
the tank. Thus it makes no sense to “put the ripple in the left tank into the
right tank and the ripple in the right tank into the left tank”. As a consequence
we end up with only the three possibilities (a)-(c) that are analogous to the
possibilities that we used to count the states of bosons in our bins.

But this suggests that the bosons should also be thought of an ripples on
some medium; if we do that, then the way we count their states would be
completely natural. The question of course is: what is this medium? To answer
this, we postulate the existence of a ‘quantum field ¢’; excitations of this field
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will give our bosons, and the theory of excitations of this quantum field is called
‘quantum field theory’.

1.1.3 A model for the field

The photon is also a boson — it has spin equal to 1, an integer — and we need a
field for describing photons as well. This field will be called the electromagnetic
field, and if we follow the discussion above, photons will be excitations of this
field.

At this point the reader may get worried by this picture. Photons are parti-
cles of light, and we are asking light to move as waves on a medium. But doesn’t
this sound just like the theory of ether? In that theory, light was described by
ripples in a hypothetical medium called ether. That picture was in conflict with
Einstein’s theory of relativity, and was disproved by the Michelson-Morley ex-
periment. Can we model photons as excitations of a field, and still have a theory
where the speed of light is the same in all uniformly moving frames?

The ether theory was in conflict with relativity because we were trying to
keep our traditional idea of a fixed universal time. In this traditional approach
one would ask: in which frame is the ether at rest? This rest frame would be
a preferred frame, since in this frame the velocity of light would be the same
in all directions. If we go to a frame moving with some velocity v compared
to this rest frame, then the ether would appear to be moving with velocity
—v in the new frame. Then light waves would travel at speeds ¢ + v along the
direction of this flow, and with speeds ¢ — v in the direction opposite to the flow.
Checking the speed of light in different directions will exhibit this asymmetry.
This asymmetry is what the Michelson-Morley experiment looked for, and failed
to find.

But this difficulty with having a medium only arises if we keep a frame-
independent notion of time. As we will now see, it is in fact quite easy to make
a simple mechanical model for the field which will be consistent with relativity.
Consider a set of pointlike masses m, placed in a row with spacing a. The
masses are joined by springs with spring constant k and relaxed length a.

The mass at any position can be displaced in the x direction by a small
amount. We will use the symbol ¢ to denote this displacement, and use the
equilibrium location = of that particular point mass to say which mass we are
displacing. Thus the displacement will be given by a function ¢(x), where at
this stage x can take only discrete values * = na. We now imagine a limit
where a is small, so we have an almost continuous distribution of mass points.
We then get an almost continuous function ¢(z), which we will call our scalar
field. What is the evolution of this field ¢(x,t)?

It is not hard to guess this evolution. This chain of masses and springs
sustains waves, which are described by the equation

0%¢ 0%
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where

This equation has solutions of the form ¢ = f(x —ct)+ g(x+ ct), which describe
waves moving to the left and right with speed c.
If we consider the change of variables familiar from special relativity

2’ = cosh Bz — sinh Bt
t' = —sinh Bz + cosh Bz (1.4)

then we find that (1.2) becomes

P9 _ 200 _ 0 (1.5)

at/2 ¢ 81./2

so we see that the speed of the waves is again 4+c. Thus the behavior of our
waves respects the postulate of special relativity.

1.1.4 Quantizing the field
1.1.5 A problem

We seem to have obtained a theory which respects the Lorentz invariance. But
one step in the procedure was the taking of the limit (??) where the wavelengths
being studied were taken to be much longer than the lattice spacing a. But what
happens if we look at the theory at wavelengths of A ~ a? The lattice of atoms
did define a preferred rest frame — the frame in which all point masses n are at
rest when the field is unexcited. If we go to a frame moving with respect to this
rest frame, then the masses will appear to be in motion. Further, the spacing
between the masses would be length contracted to a value smaller than a. So
we still seem to have a violation of the principle of relativity, which asks that
all uniformly moving frames behave identically.

The natural way out would be to take the limit a — 0, so that we don’t
see the lattice spacing at all. And this is in fact what is done in quantum field
theory. But it leaves us with a very serious problem, whose solution we still do
not know.

We had seen that the theory of point masses joined by springs was a theory
of a collection of harmonic oscillators. Even if we don’t excite the field, each
oscillator has a ground state energy %hw Adding over the frequencies(??), we
find

Eground = (]-6)

1.2 The outline of quantum field theory

We can now state in qualitative terms how quantum field theory describes par-
ticles:
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Figure 1.2: caption ...

(a) The degrees of freedom are encoded in a set of coupled harmonic os-
cillators. There is an oscillator variable at each point of space. Each such
oscillator is coupled to its neighbors; thus the overall theory is described by a
local Lagrangian.

(b) We can change variables so that a set of coupled oscillators looks like
a set of decoupled oscillators. If each such decoupled oscillator is placed in its
vacuum state, then we get the lowest energy state of our entire system. This
state will be identified with the vacuum.

(¢) Now let us consider the excitations of these coupled oscillators. Large
excitations can be treated to a good approximation by classical mechanics, and
we get the field equations (?7). These equations are analogous to the equations

of classical electrodynamics where the scalar field ¢ is replaced by a vector field
A,

(d) For small excitations, on the other hand, we should consider the quantum
theory of our oscillators. The excitations of a quantum oscillator are discrete,
and can be labelled by an integer n = 0,1, 2,.... If we have a single excitations
n = 1, then we say that we have one particle. If n = 2, then we have two
particles, and so on. Thus the theory automatically describes multiparticle
states. We also have the possibility of creating and annihilating particles, since
we can increase or decrease the number of excitations of a harmonic oscillator
by adding suitable interactions in the theory.

Note that if we excite the oscillators in a given region of space, then the
coupling of these oscillators to other oscillators causes the excitation to spread
over the space . This spread gives the normal dispersion of a wavefunction over
space, encoded in the Schrodinger equations describing a single particle. The
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eigenstates of the Hamiltonian are wavefunctions spread over all of space, and
correspond to particles with definite momentum rather than definite position.

We will now carry write out this quantum theory of coupled oscillators in
more detail. But we can already see how general relativity will impact the
above picture. In general relativity, mass curves spacetime. When matter moves
around, for example when making a black hole, the the spacelike slices of the
geometry deform. Thus the distances between the points of space change, which
in turn changes the couplings between the oscillators at these points.

There is one effect of this change which will be important for us. Suppose
we start with a state which is the vacuum on the initial slice of spacetime. Af-
ter matter moves and the spacelike slice deforms, the state we have will not
in general be the vacuum state of the coupled oscillators that we get after the
deformation. We can write this new state as the vacuum plus some particle
excitations, since any state of the theory is given by some choice of excitations
levels for the oscillators. This is the phenomenon of ‘particle creation in curved
space’. In particular, this is the phenomenon which gives Hawking’s pair cre-
ation of particles near a black hole horizon, and leads to the information puzzle.

1.3 Diagonalizing the coupled oscillators

The wave equation (1.2) has solutions that moves at the speed of light, so
it describes massless particles. For greater generality, we write the equation
including a mass term

——7—m2¢>20 (1.7)

where we have now chosen units where ¢ = 1. This equation follows from an
action

S = /dt L (1.8)
The Lagrangian is
L= / dz L (1.9)

where ) 1 )
L= 5(5%/))2 - Q(amfﬁ)g - §m2 ? (1.10)

is the Lagrangian density.
We expand ¢ in Fourier modes

Pta)= > on(t)e" (1.11)

n=—oo

It is convenient to think of the space x as a periodic box of length L. This gives
a discrete set of values for k,,

ke = (1.12)
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Since ¢ is real we have
On = (b*—n
Writing
On = b + it
we get
(bR _ d)R ¢I _ _¢I

Let us now compute the Lagrangian £. A little algebra gives

n=1

where
2 _ 12 2
w, =k, +m

= S IL(BE)? — L (98)?] Z w (o)) + g[(ciﬁo)2 -

(1.13)
(1.14)

(1.15)

wj (¢0)?]

(1.16)

(1.17)

We see that the free scalar field is equivalent to a collection of harmonic oscil-
lators. We can thus quantize the scalar field by just quantizing these harmonic

oscillators.

1.4 The harmonic oscillator

Let us first recall the quantization of a single harmonic oscillator.

position variable be q. The Lagrangian is

1 1
L= .2—*]{1 2
2mq 5 q
This gives
2
. p k o
= H=_ 47
p=mgq, 2m+2
We write
k
w=1/—
m

Upon quantization the Hamiltonian becomes

2m 2

i Pk

We can expand this as

1
= SGHi—)+ cw
\/> 21 \/2m) 2

'U>
ol
3>

Define

Q>

it = k — 4 UAL:L i i
8 f<\f Vo Sl r)

Let the

(1.18)

(1.19)

(1.20)

(1.21)

(1.22)

(1.23)
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This gives
[a,a"] =1 (1.24)
and
A 1
H= (&Td + 2)> (1.25)
Note that the original position variable can be written as
j= ;—k(aerT) (1.26)

1.5 Quantization of the scalar field

Let us now apply this quantization of a harmonic oscillator to the full set of
oscillators describing the scalar field g{)

Each Fourier component ¢, ¢!, (n > 0) is the ‘position’ coordinate of a
harmonic oscillator. This oscillator has

m=2L, k=2Lw?, w:\/ﬁzwn (1.27)
m
Thus we have )
N = ot + @ (1.28)
. 1 R .
b= g+ @) (1.29)

For the zero mode we have

m=1L, k=Lw, w=uwpy (1.30)

b0 =[5 (a0 + ) (131)

Using (1.15) we can write the classical field as

oty = D (8R() +igp(t))enT

n

= ) 208 (t)cos(knz) — Y 26 () sin(knz) + ¢o(2)
(132) n>0 n>0

Upon quantizing we should just convert the ‘position variables’ ¢(¢) of the har-
monic oscillators to ‘position operators’ ¢

6= 20 cos(knz) — > 26L sin(knx) + o (1.33)

n>0 n>0
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In terms of creation and annihilation operators we get

o(t) = + (aP)1) cos(kn ) + (al)T)sin(k,z)
( T;) \/Lwn 7;) \/Lwn )
2Llwo (a0 + (ao)")

(1.34)

We thus see that the operator (af)' is a creation operator associated to the
wavefunction cos(k,x) and (al)! is associated to sin(k,x). We would like to
create and annihilate particles of definite momentum e**»®. For n > 0 define

anf\[[a +iall, n>0 (1.35)

For n < 0 we can similarly define
1
an = —=lall +ial), n<0 (1.36)

~R
n o

where the operators a’t,al, for negative n are given through (1.15). We then

find

af, = %Wﬂ —i@l)1], nA£0 (1.37)

We find the commutation relations

The zero mode operators stays as before. Writing

1 . , 1. 4
cos(knx) = i[elk” +e ] sin(k,x) = 2—1,[6““"”” — e thn] (1.39)

we get
Z f [Aneik""” + ande” 7] (1.40)

n=-—oo
This form is not very symmetrical between x,t since the operators depend
on x but not on . We move to the Heisenberg picture where we have

O(t) = et Oe— 111 (1.41)
For a harmonic oscillator R
H=wi'a (1.42)
Note that R .
[a, H] = wa, [af, H] = —wal (1.43)

We can thus move @ across et in

a(t) = etHtge—iflt (1.44)
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getting
a(t) = et (1.45)

al(t) = afe™? (1.46)

Then in the Heisenberg picture the operator ¢E becomes

oo
- 1 1 . ) ) )
¢ J?,t — E a eiknxfzwnt +€LT efzknr+zwnt 1.47
We now see a covariant dot product between the position vector (¢,z) and the
momentum (wy,, k).

1.6 Quantum fields in curved space

We can easily extend our above discussion to 3+1 dimensional spacetime. The
field operator becomes

o ik-E—iwt | At —ik-Z4iwt
(aEe +age ) (1.48)

A 1 1
P S
where V' is the volume of the spatial box where we have taken the field to

live, and w = 1/|k|2> + m? for a field with mass m. The vacuum is the state
annihilated by all the a

az|0) =0 (1.49)

and the al. create particles.

In curved spacetime, on the other hand, there is no canonical definition of
particles. We can choose any coordinate ¢ for time, and decompose the field
into positive and negative frequency modes with respect to this time ¢. Let the
positive frequency modes be called f(x); then their complex conjugates give
negative frequency modes f*(z). The field operator can be expanded as

$(x) =Y (anfalx) +al fr(2)) (1.50)

n

Then we can define a vacuum state as one that is annihilated by all the annihi-
lation operators

(|0 =0 (1.51)
The creation operators generate particles; for example a 1-particle state would
be

) = a}|0)a (1.52)

We have added the subscript a to the vacuum state to indicate that the vacuum
is defined with respect to the operators a,,. But since there is no unique choice
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of the time coordinate ¢, we can choose a different one ¢. We will then have a
different set of positive and negative frequency modes, and an expansion

o) = (buhna) + Bl () (1.53)

n

Now the vacuum would be defined as
bp|0), = 0 (1.54)

and the I;L would create particles.
Given this situation, which is the ‘correct’ definition of particles? The situ-
ation can be summarized as follows:

(i) If spacetime is flat, then we should use the Minkowski time ¢ to define
modes as in (?7), and this defines our particles. We can of course go to a frame
that is uniformly moving with respect to our initial frame, and then we have a
new Minkowski time #. But it turns out that this change does not affect the
definition of the vacuum. The different operators a; get relabelled because the

momentum changes k— Kk , but annihilations operators remain annihilation
operators and so the definition of the vacuum (1.51) is unaffected.

(ii) In general spacetime is not flat. Suppose that at a location x the cur-
vature length scale is [. Then over distances much less than [ the space can be
treated as essentially flat. Thus for wavelengths A ~ |E\*1 < I, local particles
defined the same way as in (a). But for A 2 I, we have no unique definition of
particle.

(iii) Even though the definition of particle is ambiguous in general, there is
a well defined meaning to (T}, (x)), the expectation value of the stress-energy
tensor at a point in spacetime. This quantity is independent of the definition
we choose for particles, and in fact can be computed by doing a path integral
over the field ¢ without choosing any definition of particle.

The underlying assumption in defining the operator T}, (x) is that its expec-
tation value should vanish in the vacuum state of flat spacetime. We can then
carry the same definition of T),,(x) to curved space, where we find a nonzero
value in general. The assumption (T}, («)) = 0 in the flat space vacuum appears
to be a natural one. But hidden in this assumption is the cosmological constant
problem: why must we subtract the energy of vacuum fluctuations in exactly
such a way that this expectation value vanishes? There is as yet no clear answer
to this question.

1.6.1 A conserved inner product

In nonrelativistic quantum mechanics, the inner product

(mw=/fWWWW) (1.55)
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is conserved for two solutions y, v of the Schrodinger equation. This inner
product is positive definite, since (1), ¢) is the integral of the probability density
|)|2. For the correctly normalized wavefunction, (1,) equals unity at all times,
since the particle has a probability 1 to be somewhere in the whole space at any
time £.

In quantum field theory, particles can be created and destroyed, since they
are just excitations of an underlying field. Nevertheless, there is a conserved
inner product for for the functions f, f* appearing in the expansion of ngS This
inner product is however, not positive definite; it is positive on functions like
the f that multiply the annihilation operator @, and is negative in functions f*
which multiply that . This inner product will be very useful to us in relating
different expansions of the field ¢.

1.6.2 Obtaining the inner product

Consider two functions fi, fo which satisfy the waveequation

1 o _
0f = =0 (6" V=350) =0 (1.56)

Thus Off = 0 and Ofy = 0. Consider the product fyOfs = 0, and integrate
over the spacetime slab between two hypersurfaces Siower and Sypper

0 = [devTanomn

v L
/ e f10, (6 g o) (157)

8# (g“v\/j‘gflu)

We can now integrate The 9, derivative by parts. We assume that the functions
die off at large spatial distances, so the only boundary terms are Bypper and
Biower from the hypersurfaces Sypper and Sipwer

0=-— / d4xfik,pgﬂu \% _ng,V + Bupper - Blower (158>
The boundary terms can be written in a covariant form
B= [ @S fig" Vgt (1.59)

where £%,i = 1,2, 3 are coordinates in the 3-dimensional spatial hypersurface.
Alternatively, we can take the intrinsic metric h;; of the hypersurface, and write

B~ [ éevhfionr, (1.60)
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where 0, is the derivative in the direction along the unit normal to the hyper-
surface.

The bulk integral in (1.58) is symmetric under the interchange f; < f.
Thus we can cancel it by taking

0 = [devson - [dev=arnos
= Bupper - Blower (161)

where

B= / B (fr0ufo — Fo007) (1.62)

Since The difference of B on the upper and lower hypersurfaces vanishes, we
find that B is conserved along the evolution for any two solutions fi, fo of the
waveequation. If we choose f; = f3, then we get a purely imaginary quantity.
It is conventional to add a factor ¢ to make this real; thus we define the inner
product

(i fo) =i / R (f70uf2 — Foduf?) (1.63)

1.6.3 The inner product on a null hypersurface

The conserved inner product (1.63) was defined on a spacelike hypersurface. We
will however sometimes find it convenient to consider a null hypersurface. For
example we will encounter a metric of the form

ds* = —F(r)dudv + r*d9? (1.64)

where 7 = r(u,v). The hypersurface defined by u = constant is null. It is
spanned by angular directions 6, ¢ which are spacelike, but also by the direction
v which is null. Along such a hypersurface the volume element d3¢v/h vanishes.
Also, the normal to the hypersurface is along the direction v which is null, so
we cannot compute the derivative along a unit normal. These two difficulties
cancel each other out, however, and we can take the limit where our spacelike
hypersurface becomes null. It is easier however to derive the conserved inner
product on null surfaces by starting again from the waveequation, which is what
we do now.
For the metric (1.64) the waveequation is

Of = (8u (gm}\/jgf,v) + 0, (guv\/jgf,u) + 04 (gab\/jgf,b)) =0

(1.65)
where a,b run over the angular directions. Let us integrate f;yf2 over the slab
between two null hypersurfaces u = Ujower and U = Uypper. We assume that the
fi fall off at large v, so the only boundary terms in an integration by parts are

3-
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from these two hypersurfaces. We have
0= [ dtav=g(i0f - £OF7)

— [ dududtds 1710, (6"'V7520) + 00 (4" 0f20) + 00 (575 o)

- / Qudvdfds f2(0 (6 V=GF7) + 0o (89S 1) + a (6°V311s)]
(1.66)

The only boundary terms come from integration by parts on d,, and so we get

0= Bupper — Biower (167)
where for any surface
B= / dvd0de (f1 "' =9f2,0 — f29""V =97 ) (1.68)
For the metric (1.64), we have
2 1. 5.
g = 5 V9= iFr sin 0 (1.69)

Putting in the factor i that we added in (1.63), we find the inner product
computed on a u = constant surface

(1. fo) =i / dudQr® (10, fs — f20,f7) (1.70)



TOPIC III

HAWKING’S PUZZLE: A SECOND PASS

Now that we have some understanding of general relativity and quantum field
theory, let us return to the Hawking puzzle. We will see that the puzzle arises
in the following steps:

(a) The horizon is a place where particles trajectories get ‘separated’. Parti-
cles trying to fly out from a point just outside the horizon do manage to escape
to infinity. But particles trying to fly out from a point just inside the horizon
cannot escape; they end up falling to the center of the black hole. Thus tra-
jectories that start off very close to each other get ‘pulled apart’ if they are on
opposite sides of the horizon.

(b) This pulling apart of trajectories converts a vacuum state to a state
which contains particle pairs; one member of the pair being outside the horizon
and one inside.

(¢) The important point is that these particles are in an ‘entangled state’.
It is this entanglement that creates a problem near the endpoint of black hole
evaporation, as we will see.

Thus the Hawking puzzle arises from very simple and robust features of
general relativity and quantum field theory. General relativity shows us that
the horizon is a place where trajectories separate. The nature of the quantum
vacuum then implies that this vacuum will be unstable; pairs of particles will be
created, one inside the hole and one outside. The puzzle arises from the nature
of the quantum state of these particles: the two particles are entangled, instead
of having separate wavefuntions of their own. If the hole evaporats away, then
the puzzle becomes one about the state of the particles left outside as Hawing
radiation: what are these particles entangled with?

Later we will make a third pass at the puzzle, using some results from quan-
tum information theory to show that the steps above are robust against any

16
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small modifications of the physics. This will remove a large category of pro-
posed resolutions of the puzzle, that seek a way out by invoking sutble quan-
tum gravity correctons to the leading semiclassical physics used in steps (i)-(iii)

above.



Lecture notes 2

The essential physics behind pair creation

Let us begin by describing the basic physics that leads to pair creation at the
horizon of a black hole. We will first see how geodesics on the two sides of
the horizon diverge away from each other. We will then make a toy model for
the quantum vacuum, and see how this divergence of trajectories leads to the
creation of entangled particle pairs.

2.1 The divergence of trajectories at the horizon

Recall the Schwarzschild metric (?77?)

ds®> = —(1— M)dtQ + (1 — %)—w +72(d6* + sin® 0dp?) (2.1)

T T

We wish to consider particles that are trying to escape from the hole. The parti-
cles that can escape most easily are massless particles, moving outwards radially
at the speed of light. For such trajectories the only nonzero displacements are
dt, dr and we must have ds? = 0. There are three cases to consider:

(i) Suppose the particle starts a little outside the horizon, at r = 2M + e.

Then we have from ds? = 0
dr 2M

To have the particle go outwards, we take the positive sign. Let us ask for the
time it takes for this particle to escape to a location ry that is away from the

horizon -
s dr
2M+-e€ 0

This gives
1
T =~ 2M log — (2.4)
€

Thus the particle does ultimately escape, but the time to escape becomes large
as € goes to zero.

(ii) Suppose the particle starts at the horizon r = 2M. Then the only way
to get ds? = 0 is to take dr = 0, which means the particle stays at the horizon.

18
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Figure 2.1: caption ...

(c) Suppose the particle starts a little inside the horizon, at a position r =

2M — ¢ We have
dr 2M 2M
412 = _— -1 2.
=) == () (25)

Let us compute the time for the particle to reach a position r; that is away from
the horizon 0 < ry < 2M. This needs the negative sign in the above relation,

and we find -
T dr
2M+e . 0

This gives
1
T ~ 2M log — (2.7)
€

Thus the particle escapes the vicinity of the horizon, but again the time to
escape becomes large as € goes to zero.

The situation is schematically shown in fig.?7?. We see that a small region
straddling the horizon gets stretched to a large region after we wait for a suffi-
ciently long time. In fact we can start with an arbitrarily small region

|r —2M| < € (2.8)

and see that after a time
t~ (2.9)

the region will stretch to a size ~ M which describes the length scale of the
Schwarzschild geometry.

This persistent stretching at the horizon is what will lead to the evaporation
of the hole. While spatial slices stretch and comtract in any process in general
relativity, such deformations are usually quite limited. that is, if the length
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scale in the metric is ~ L, then regions of size ~ L may stretch to a size aL
with a being a factor of order unity. Further, the deformations of the spatial
slices will typically stop after a while when the metric settles down to a new
startionary state. But in the presence of a horizon, we see that the stretching
can be arbitrarily large, and does not stop as long as the horizon exists.

Our next question is: what is the consequence of this stretching?

We have seen in section 7?7 that the quantum fields on spacetime can be
described by a set of coupled harmonic oscillators. When a slice stretches, the
distance between neighboring points increases. This makes the coupling between
the corresponding oscillators weaker. This change of coupling can convert a
vacuum state of the oscillators to a state that contains pairs of excitations.
But excitations of the oscillators describing the quantum field correspond to
particles. Thus we will find that the stretching of slices seen above will lead to
the creation of particle pairs from the vacuum.

We will study this phenomenon of pair creation in three steps:

(1) We will first consider a single harmonic oscillator. We start in the ground
state of this oscillator. At some time ¢ = 0, we change the frequency of this os-
cillator. We then see how the state of the oscillator contains pairs of excitations
above the vacuum.

(ii) We then make a toy model of the situation we will encounter with the
black hole. We consider two oscillators, one on each side of the horizon. These
oscillators will be coupled to each other, the way neighboring oscillators are
coupled in quantum field theory, and we will let the initial state of the system
be the ground state of the coupled oscillator pair. We have seen above that
geodesics on the two sides of the horizon separate away from each other. We will
model this effect by removing the coupling between the oscillators at some time
t = 0. We will find that the two oscillators will now have pairs of excitations,
and the overall states will be entangled between the two oscillators. This state
has all the features of the full quantum problem that will be relevant to the
information paradox, so this is a useful toy model.

(c) Finally we will set up the problem of Hawking radiation in the black hole
metric, using the 14+1 dimensional case for simplicity. We will present details
of the computations in the appendix.

2.2 Pair creation for a single harmonic oscillator

We will solve this simple case in two ways: first, in the Schrodinger picture,
where the physics is a little clearer, and second, in the Heisenberg picture,
which makes the computations simpler in the general case that we will find in
field theory.
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2.2.1 Sudden frequency change: Schrodinger picture

Consider the Lagrangian of a harmonic oscillator with frequency w.
Lig 15,
=—¢°— = 2.1
L= 28— 2w (2.10)

where we have called the position variable ¢, in line with the fact this this
variable will be analogous to the value of the scalar field in the full problem. We
can write ¢ and its conjugate momentum 7 in terms of creation and annihilation
operators

- 1
= a+al
b= aa)
Fo= =—i %(a-a*) (2.11)
The vacuum state |0), of the oscillator is defined by
i[0)q =0 (2.12)

We assume that for times ¢ < 0 the oscillator is in its vacuum state |0),. At
time ¢ = 0 the frequency of the oscillator is suddenly changed from w to a dif-
ferent value w. The state of the oscillator, however, cannot change immediately.
This is because the state evolves according to the Schrodinger equation

0

iy =M (2.13)

so that for infinitesimal ¢ we have

w|t:5 - ¢|t—6 = _Z(2€)H¢ (214)

For our H and ¢ = |0),, the state H has finite norm. Thus in the limit e — 0
we find that ¢ does not suddenly change at t = 0 when we change the frequency
of the oscillator.

The operators QAﬁ,fr = —i0/0¢ do not change when we change the Hamil-
tonian. But their expressions in terms of the new creation and annihilation
operators does change. Let the creation and annihilation operators for the os-
cillator with frequency @ be b, bt. Then we have

Lo
¢ oz (b+0")

T o= —z\/g(é—iﬂ) (2.15)

Comparing with (2.11), we find after a little algebra

a = ab+ gbt (2.16)
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-3 ({2D) o
e

Our chosen state at t = 0 was |0),; this state was defined by the relation
(2.12). We can write this relation as

with

DO =
| €

(ai) + ﬂBT) 0) =0 (2.19)

If however we take our creation and annihilation operators as l;, I;T, the we would
define a vacuum state |0);, through the relation

bT10), =0 (2.20)

We see that our initial state |0), is not the same state |0), which would be called
the vacuum for the oscilaltor at times ¢ > 0. We noted above that the state
itself does not suddenly change at t = 0 when we change the frequency of the
oscillator from w to @. Thus when we cross the time ¢t = 0 we should write our
state |0), as a linear combination of basis states for the oscillator with frequency
@; the subsequent evolution of the state will be through the phase e *F»t for
basis states with different energies E,,.

The states |n), with n = 0,1,2,... form a complete basis of the Hilbert
space, where |n), is the nth excited level of the oscillator with frequency @.
Thus we can write |0), as a linear sum over this basis. It turns out the the
linear sum is given by an elegant ansatz of the form

10}, = Ce2'"|0), (2.21)

where C' is a normalization constant. To find the coeflicient v appearing in this
expansion, we note the relation We have

bed |0y, = bted 1 |0), (2.22)

This relation can be checked by expanding the exponentials in series, and using
the commutation relation [b, b'] = 1. Then we find

8 0 —w

(2.23)

C = (2.24)
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2.2.2 Analyzing the relation (2.21)

2.2.3 The Heisenberg picture for a single oscillator

Let us now redo the problem of pair creation for a single oscillator in the Heisen-
berg picture; this is the picture that will is more convenient to use for quantum
fields on curved spacetime. The Heisenberg operator ngS(t) is defined in terms of
the operator g?) as

o(t) = eth(;ASefth (2.25)

We can expand q@(t) in terms of creation and annihilation operators

o(t) = f(Hya+ f(t)al (2.26)

We have put the time-dependence in the functions f, f*, while the operators
a,a’ are time indpendent. The state |¢)) does not evolve in the Heisenberg
picture, and the action of @, a' on a state will give rise to other states which will
also not evolve with ¢.

The operator ¢(t) should satisfy the field equation (2.10) for the harmonic
oscillator; this implies that f, f* should satisfy this equation as well. For an
oscillator with fixed frequency w, a basis of solutions is

e—iwt7 eiwt (227)

To find the linear combinations that must appear in (2.26), we compute a 2-point
correlator: we start with the vacuum |0),, created an excitation by applying

@(t1), and then annihilate this excitation to return to the vacuum by applying

B(t2):
(0l6(t2)d(t1)[0)a = &(0] (f(t2)a+ f(1)2)a") (f(t1)a + f*(t1)a") 0)q
f(t2) f*(t1) (2.28)

We require that the state that propagates begtween ¢; and ¢, have positive
energy; i.e., it should evolve as e"*F! with E > 0. We will call such functions
positive frequency. We find that we must have

b(t) = Ce ™ta 4 C*etal (2.29)

which gives 4
Flt2) [ (81) = |CPemeltzmt) (2.30)

To fix C, we note the commutation relation between ¢(t) and & = d/dte(t):
[6(t), 7 (1)] = i (2.31)

This gives

. 1 .
i —cLL (2.32)
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The value of C' can be alternatively chacterized as a normalization of f. Define
the inner product between two functions of ¢

(hy ho) =i (h’{hg - lﬁhg) (2.33)

If hy, hy satisfy the equation (2.10) for the oscillator, then this inner product is
independent of ¢, since it is proprtional to the Wronskian of two solutions. We
find that

Thus the inner product is not positive definite: the positive frequency function
f has positive norm while the negative frequency function f* has negative norm.

2.2.4 Pair creation in the Heisenberg picture

Let us return to our problem where the frequency of then oscillator is w for
t <0 and @ for t > 0. We again write ¢t) in the form (2.26). The equation for
f is now

f+w?f = 0, t<o0
f4+@% = 0, t>0 (2.35)

For times ¢ < 0 it is natural to think of states as being defined over the vacuum
|0)q. Thus we use modes f that agree with (2.32) at ¢t <0

1 —twt
= e ™ t<0
/ V2w
[ = ae @ 4axe, t>0 (2.36)

where the constants a;, as are determined by the requirement of continuity at
t=0

F07) = f(0F),  £(07) = f(0T) (2.37)
For times ¢ > 0 it is natural to think of states as being defined over a vacuum
|0}, which is defined using the creation and annihilation operators b, b' for an
oscillator with frequency @. Calling the relevant function ¢ instead of f, we
have

g = aze ™' faet t<0
1 -
= —e ™ >0 (2.38)
20
where the constants as, a4 are again determined by the requirement of continuity
att =20
9(07) = g(0%),  g(07) = g(0") (2.39)

We now have two ways to write the field operator qAS(t):

o(t) = f(t)a+ f*(t)al (2.40)
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o(t) = g(t)b+ g" ()b (2.41)

Thus we get the relation
Fa+ fr(al = g(t)b+ g*(1)b! (2.42)

Our goal is to relate the operators @,a! to the operators B,IST. Let us take
the inner product (2.33) of both sides with f; i.e, we compute (f,-) on both
sides. We get . .

a=(f, )b+ (f.g")b" (2.43)

Since f, f*, g, g* are all solutions of the same second order differential equation,
the inner product is again independent of ¢. In general we would need to find
the explicit form of f, g by finding the constants aq,...a4, but in the present
case of ‘sudden change of frequency’ we have a shortcut: we can compute the
inner products at ¢ = 0. The inner product involves only the value and first
derivative of the functions, and these quantities are the same at ¢t = 0~ and
t = 0". Thus we can use the expression for f for ¢ < 0 (where it is simpler) and
the expression for g for ¢t > 0 (where it is simpler). We find

(@ w)
o @tw) _

(07

so that . X
a=ab+ B’ (2.45)

We see that we get the same relation as (?7). The rest of the computation as
before, leading to the relation (?7).

2.3 Toy model of Hawking evaporation

Consider again the depiction of the black hole in fig.??. We have a horizon, and
geodesics on different sides of this horizon diverge away from each other.

To see the effect of this divergence, consider a scalar field ¢ living on this
spacetime. In fig.?? we depict wavemodes f;, and fr on the left and right sides
of the horizon respectively. An occupation number n; = 0 for f; means that
there is no particle in the mode fr, an occupation number n; = 1 means there
is one particle in mode fr,, and so on. Similarly we can populate mode fr with
the possibilities np = 0,1,2,....

Given our picture of quantum field theory, we can represent the mode f;, as
a harmonic oscillator, and ny, is the excitation level of this oscillator. Similarly,
the mode fr corresponds to a second harmonic oscillator, with excitation level
ngr. Let each oscillator have frequency w.

In fig.?? we depict these oscillators on two time slices. On the ‘earlier’
time slice the modes fr, fr are close to each other, and their corresponding
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oscillators should be coupled. At late times, the modes are far from each other,
and the corresponding oscillators should be almost decoupled. Let the variable
describing the left oscillator be ¢ 1, and the variable describing the right oscillator
be ¢r. We make a toy model of the physics by letting the oscillator be coupled
for t < 0 and decoupled for ¢t > 0. Thus the Lagrangian is

1. 1. 1 1
L = §¢%+§¢%—§w2¢%—§w2¢§%—a¢R¢L, t<0

1, 1, 1 1
= 30+ 50k - Jeh — 5wk, >0 (2:46)

2.3.1 The state for ¢t <0

We can decouple these two oscillators by going to a new basis

1= (61 +0R), J2= %(m ~¢n) (2.47)

V2

which gives two uncoupled oscillators with frequencies

o1: wi=Vwita, w=Vw?-a (2.48)

The oscillator with variable ¢, has creation and annihilation operators a1, d{ and
The oscillator with variable ¢; has creation and annihilation operators ao, &;.

We wish match our notation as closely as possible to the notation we have
used for decoupling oscillators in quantum field theory. Instead of an infinite
line of points where the field ¢ was defined, we now just have two points. In
place of the functions f(¢, ) at timne ¢ on this line z, we now have a function
of ¢t defined on two points. We write functions on this 2-point space using a
2-component vector (a,b), with a corresponding to ¢, and b corresponding to
¢r- We define two component functions

1 1 1 1

= et __(1,1), = e w2t __(1,-1 2.49
The inner product between modes f, g is
(f,9) =ilf"-0wg — Ouf" - 9] (2.50)
The above modes are normalized as
(fis £5) = 6is (75 1)) =05, (fi,f3)=0 (2.51)
Now consider the ‘field operator’
¢ = (61,62) (2.52)

Since the oscillators have been decoupled in the ¢1, ¢ basis, we can expand the
field operator just the way we did for a single oscillator

6= han + f{a] + foi + f3 ) (2.53)
We start with the vacuum state for these coupled oscillators

a0y =0, i=1,2 (2.54)
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2.3.2 Evolution for ¢ > 0

At the late time slice, the modes fr, fr are well separated, and the coupling
between them is weak. We have modeled this by letting the oscillators corre-
sponding to these modes be decoupled for ¢ > 0. The analogue of the modes
(2.49) is

1 , ,
g1 = —e “H1,0), go= e H0,1) (2.55)

1
V2w V2w
Note that

(9i:95) = 6ijs  (97,97) = —dij,  (97,95) =0 (2.56)
The same field operator ¢A> can be written as
b = gib+ gib' + goé + giét (2.57)
Thus we have

fray + fral + foan + f3al = gib+ gibt + ga + g3t (2.58)

2.3.3 Matching at t =0

As we did in the case of the single oscillator in the Heisenberg picture, we
wish to express the conditions (2.54) (which define our state |0),) as conditions
involving the oscillators l;, lA)T, ¢,¢7. This will then allow us to express the state
|0), in terms of bf, éf excitations.

We take the inner product (gi,-) on both sides of (2.58). This gives

b = (g1, f1)ar+ (g1, f7)al + (g1, f2)as + (g1, £3)a]
w+wp . W—Wi w+wy W — Wy &T

a1 + a as +
2\/§‘/ww1 ! Qﬂ./wwl ! 2\@,/(,0@02 2 2\/5,/ww2 2
(92, f)ar + (g2, 1)} + (g2, f2)a2 + (g2, f3)ad

é =
w+wp . W— Wi Lt w+wy W—w2 Lt
= ar + a, — as — Qs
24/2, Jwwq 2\/5. /w1 24/2, Jwwsy 24/2, Jwws
(2.59)

While we can find the state 0), in terms of b, ét for any value of the coupling
a, the algebra is a little simpler for a < w?. In this limit we have, keeping the
leading order expression for each term

a a
~ — ~Nw— — 2.60
Wi W 2w’ w2 = 2w ( )
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Then we have for the operators and their conjugates

I; 1 N a AT_’_ 1 R + a At
N —0 — ——=—0; + —=0s+ ——=—a
V2l e VR T A
~ 1 ~ a At 1 " a At
¢ R —a1——F—=—0] — —=Gs — ———a
2 vt V2 AV
AR L S SV
7 1 4\/§w21 \/52 42w22
o~ idT_Ld _L&T_Ld
W ! 22 4v/202 2
V2l 42w
(2.61)
Now we note that the combination
~ a .
b+4—wch (2.62)
has only annihilation operators ai,as. Thus
~ a
(b+ DCT) ‘0>a =0 (263)
which has the solution
10), = Ce 22" ¢' |0, @ |0). (2.64)

Thus we see that if we have two oscillators with the same frequency, weakly
coupled together, and then we remove the coupling suddenly, then the ground
state of the initial system becomes an entangled state of the two uncoupled
oscillators.

2.4 The entangled nature of the state (2.64)

We can expand the exponential in (2.64) to find

a
4?2

2

10), = C { 10), @ 0 — ( ) 1), ® |1)e + (4%2) 12)5 @ |2)e + .. ] (2.65)
Let us note the physical picture of black hole evaporation captured by a state
of this kind. Hawking evaporation is a quantum process. This if we consider
a given time interval, then there are probabilities for different events to occur
during that interval. There is some probability that no particle is emitted; this
is captures by the first term on the RHS of (2.65) which has the factor |0),. But
this factor comes along with the factor |0)., which tells us no particle falls into
the interior of the hole either. This makes sense: the particles were created in
pairs, so if no particle is emitted in mode b, then no particle in falls into the
hole in the corresponding mode c. The probability for this eventuality — that of
no particles being produced — is given by

Poo = [C]? (2.66)
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The second term on the RHS (2.65) says that 1 particle is emitted in mode b,
and correspondingly, 1 particle falls into the hole in mode ¢. The probability
for this occurrence is

Py = |C|2 (4%‘;2)2 (2.67)

The next term has two particles in each mode, and so on.

States of the form (2.65) are said to be entangled between the systems b and
c: the choice of state for the system b is dependent on the choice of state of
system c. By contrast, a ‘factored’ state would have no relation between the
states in systems b and c. Examples of factored states are

S S
V2 V2

The essential issue with our entangled state (2.65) can be captured by taking a
simpler entangled state which has just two terms in the sum

0)s @10)e,  [0)p @ [1)e, (10)s + [1)p) ® —= (0)c +[1)e) (2.68)

1

V2

We will work with this simpler state 1) in the discussion below.

l¥) (10)0)c + [1)s[1)) (2.69)

The widespread occurrence of entangled states

Entangled states are found very often in nature. Consider two electrons, labelled
1 ad 2. The states of each electron can be described by using a basis where the
z spin is +1; let us call these states [£)1, |£)o.

Suppose the two electrons are in a singlet state; i.e., a state with overall spin
0

1

V2
This is an entangled state since the spin of electron 1 is dependent on the spin
of electron 2. Electron 1 does not have a definite state by itself: it is spin up if
electron 2 has spin down and it has spin down if electron 2 has spin up.

More generally, entangled states are created by interactions. If a particle
p is interacting with several other particles, then after some time the state of
p will become entangled with the state of the reming system described by the
other particles.

Thus in quantum theory, entangled states are more the norm than the excep-
tion. But as we will now see, the entanglement created by black hole evaporation
leads to a serious problem for quantum theory.

(V) singtet = —= (|+)1]=)2 = [=)1[+)2) (2.70)

Entanglement in the evaporating hole

We proceed in the following steps:

(i) Start with a ball of matter, in some state ¥) 4. This is the matter (which
we had earlier termed ‘A’), which will collapse and make the hole. While this
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matter A could have been entangled with some other system somewhere else, it
is simplest to assume that there is no such entanglement; thus ¥) 4 is what is
called a ‘pure’ state.

(ii) Now let A collapse to make a black hole. The hole is in a pure state
characterized by A; let us call this state U) 4.

(iii) Now suppose a pair is created out of the vacuum by the Hawking process.
Let us model the state of this pair by the simplified state (2.69):

1

V2

where we have added a subscript ‘1’ to the modes b, ¢ to indicate that these
modes correspond to the first pair that will be emitted from the hole. Imagine
dividing spacetime into two regions:

The outer region: The region outside the hole. For concreteness, let this
be the region r > 10M, where we are away from any effects that might be
particular to the region near the horizon.

|’(/}> (|O>b1|0>c1 + ‘1>b1|1>c1) (271)

The inner region: This is the region r < 10M, containing the hole and its
vicinity.

We see that the state in the outer region is entangled with the state in the
inner region, due to the entanglement in (2.69). The state of by, c¢; does not
depend on the details of the state of the matter A which made the hole.

(iv) Now consider the emission of a second pair from the vacuum. The state
of this pair is
1
|¢> = ﬁ (|O>b2|0>02 + ‘1>b2|1>02) (272)
Thus the members of the second pair are entangled with each other, but they
are not related to the initial matter of the hole A or the members of the first
pair. The overall state in the outer region is now ‘more’ entangled with the state
in the inner region; we will note how to define the amount of this entanglement
in section ?77.

(v) After N steps of emission, the overall state is

) = 194 @ 2 ([00nl0b + Dulbe)
1
@ 5 (100 10)es + 1) 1)es)
1
® 5 (100[00ex + 11 Ve (2.73)
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The state in the outer region is now very heavily entangled with the state in the
inner region. This is still not a problem however; any many-particle quantum
system will typically be highly entangled with other systems that it is able to
interacted with.

(vi) The problem comes from the curious nature of gravity: that it is at-
tractive. This gives the potential energy a negative sign, and we have seen that
the net energy of the initial matter A together with the infalling particles {cx}
keeps going down with each emission. The black hole shrinks towards a situation
where it has zero mass. The simplest assumption — and the one that Hawking
made in 1975 — is that the black hole evaporates away to nothing, giving us the
vacuum state at r = 0.

The mass M of the initial matter A is now in the Hawking radiation quanta
{br}. So energy is conserved; which is satisfying. But the problem comes when
we ask: what is the state of the quanta {by}?

The quanta {b;} had no definite state by themselves; their state was defined
in conjunction with their partners {cx}. Thus the state in the mode by was |0},
if the state in the mode ¢; was |0).,, and the state in the mode by was |1),
if the state in the mode ¢; was |1).,. But if the quanta in the mode ¢; have
disappeared from the universe, then what is the state in the mode b7

This is the crux of the information paradox. If we cannot assign a state to the
quanta in the modes {b;}, then we have a violation of quantum theory, where
the universe must be described by a state W)(¢) at all times. We started with
matter A described by a definite state |¥) 4, but at the end of the evaporation
process we are left with quanta {bs} which cannot be assigned a state. Thus the
process of black hole formation and evaporation cannot be captured by normal
quantum evolution, which takes states to other states

W) = e A1), (2.74)

2.4.1 States vs density matrices

The above conclusion is startling, so let us take a moment to explore it in more
detail.
Consider again the state (2.70) of two electrons in an overall singlet state

1
V2

Neither electron has a state by itself; this is an entangled state of the two
electrons. Now suppose electron 1 were to disappear from the universe. Could
we assign any state to electron 27

One might think that we could just delete all reference to the state of electron
1, getting the state

() singtet = —= (|+)1]=)2 — |=)1]+)2) (2.75)

‘w>singlet — % (|_>2 - |+>2) (276)
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for electron 2. This looks like a sensible state; it is an eigenstate of the Pauli

matrix o; = with eigenvalue —1, so it represents a spin for electron 2

0 1
10
pointing in the direction —z.

But there is a problem with this procedure. We could have chosen a slightly
different basis for the states of electron 1

[+ = )1, =1 = e-h (2.77)

The singlet state (2.75) would now be written as

1 —i
V) singlet = NG ([4)1]-)2—e 0\—>1|+>2) (2.78)
If we now delete all reference to electron 1, we find
1 iy
%) singtet — 7 (|=)2 — e [+)2) (2.79)

This is not the same as the state (2.76). For example, for 8 = /2, we get
—1
0
represents a spin for electron 2 pointing in the direction —g.

Thus we see that the structure of quantum mechanics does not allow us to
delete all reference to one particle of an entangled pair, and obtain a unique
state for the remaining particle.

If we cannot get a state for electron 2, is there anything that we can say
about it? In the initial state (2.75) there was one thing we could say about
electron 2 by itself: the probability for it to have spin |+)

an eigenstate of the Pauli matrix oo = with eigenvalue —1, so it

2
1
== 2.80
! (250)

1

7 -| 7
and the probability for it to have spin |—) was P = % as well. If we some-
how ‘delete’ spin 1 from our universe, then the states (2.79) still have the the
probabilities P, 1= %, regardless of the value of 6; i.e., regardless of how we
chose the basis of states for electron 1. If we can specify only the probabilities,
and not the actual state for an electron, then we say that the electron is de-
scribed by a density matriz rather than a quantum state. We will see a detailed
mathematical description of density matrices later.

Let us return to entangled state (2.73) of the black hole. If the hole evapo-
rates away leaving only the quanta in modes {b;}, then we cannot have a state
for the {by }, but we can have probabilities for various possible states. Since each
mode by, can be in the states 0 or 1, there are 2V possible states for the modes
{bx}, with each state labelled by a sequence of Os and 1s; e.g. 0100010...011.
From (2.73) we see that the probabilities for each of these states is the same

1 1
SN = oN (2.81)

1
P =—,... P =
000...00 = 57 011..01 = 5
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This information about probabilities is described by the density matrix of the
set {b}. The density matrix clearly has less information than a quantum state;
any state of the form

1 ; , ,
W)y, = v (€"11000...00) +...e""[011...01) +...€e" N [111...11)) (2.82)
>
has the probabilities (2.81). Thus we lose the phase information contained in
the 0, when we go from a state to a density matrix.

In the process of particle scattering, the usual quantum evolution (2.74) is
described by an ‘S-matrix’. This S-matrix is unitary

st =571 (2.83)

Hawking proposed that in a theory with gravity, there is no S-matrix, and thus
no unitarity; all we can have is a ‘Dollar matrix’ $ which describes the evolution
of density matrices. This of course is a radical change in the foundations of
quantum theory, and caused much consternation. It also lead people to consider
the idea of remnants.

2.4.2 Remnants, and their difficulties

Given the seriousness of the problem caused by the complete evaporation of
the hole, one may try to say that the evaporation stops when the hole reaches
planck scale. When the hole is much larger than planck scale, the semiclassical
approximation would appear to be valid, and then the separation of geodesics
at the horizon continues to give the creation of entangled particle pairs. But
when the hole is planck size, then new quantum gravity effects may creep in,
and somehow stop the further evaporation of the hole towards the vacuum.

The planck sized object that is left if the evaporation of the hole stops is
called a remnant. This remnant must contain the initial matter A, as well as
all the negative energy quanta in the modes {cp}. With this situation, there
is no problem with the quantum mechanics as such, since we have not lost the
wavefunction of the matter A, and we have retained all members of the entangled
sets {b},{c}. The difficulties with remnants all stem from the question: how
can such a small remnant hold all these quanta?

One might try to bypass this problem by postulating that all the quanta
involved in A, {c} get crushed to a unique state |¢),emnant inside the hole, and
this state is characterized by a small spatial extent (~ [,) and small energy
(~ my). But this would be a violation of quantum mechanics. The full state
|¥) (2.73) had a large entanglement between the exterior region and what is in
the hole. More precisely, the state |¥) has the form

[N}

vz =

. [\v]
[ %

Il
-

|¥) = Ixi) [¥i) (2.84)

K2

where | ;) are orthonormal states in the interior and |¢;) are orthonormal states
in the exterior. Now it is true that we do not know the nature of the evolution
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in the interior when the hole reaches planck size. But under a unitary evolution
(2.74), orthonormal states evolve to orthonormal states. Thus any evolution
inside the hole can only produce a change of the form

Ixi)|[¥i — X i (2.85)

[\}
w|2 =
[\
] %

Il
—

[N}

I\J‘Z‘ =

- [ )
M) %=

Il
_

3 7

where the |/} again form a 2%V dimensional set of orthonormal states. Thus the
remnant must have at least 2%V possible internal states. But N can be as large
as we want: if we start with larger and larger holes and let them evaporate down
to planck size, then we get larger and larger values of N in (2.73). Thus we
should be able to have infinitely many states possible for planck sized remnants.
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Particle creation in black holes

3.1 The full structure of the classical black hole

We have seen that Hawking radiation arises because the vacuum around the
horizon is unstable to the production of particle pairs. This instability, in turn
arises from the fact that particle trajectories of the two sides of the horizon
get ‘pulled apart’: a trajectory starting just outside the horizon can escape to
infinity, while a trajectory starting just inside must fall to the center of the hole.
The simplest trajectories are the radial trajectories of particles moving at the
speed of light. Our goal is to write the metric in a form where we can study
such trajectories easily, both outside and inside the horion. This form of the
metric is achieved by going to Kruskal coordinates, which allow us to see the
entire geometry of the classical black hole metric.
The physics of light rays is best seen in null coordinates. In flat 141 dimen-
sional Minkowski space
ds* = —dt?® + da? (3.1)

we can define the‘null coordinates
u=t+z, v=t—zx (3.2)

A lightlike trajectory moving left is given by u = constant and one moving right
is given by v = constant. Let us now look for similar coordinates for the black
hole.

Our Schwarzschild metric is

2M 2M
ds* = —(1 — =—=)dt* + (1 — =) " dr? + r*(df? + sin? 0d¢?) (3.3)
r r
We write this as
2M dr?
2 _ 2 20702 | 20742
ds* = (1- . ) [—dt + (1= 2y + r°(df* + sin® Od¢*) (3.4)

It is useful to define a new coordinate r* by

. dr
dr* = 120, (3.5)
which gives
r* :r+2Mln(ﬁ—l) (3.6)
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where we have set the arbitrary additive constant to zero. Clearly this definition
is singular at r = 2M, so let us restrict attention for the moment to the region
outside the hole r > 2M. The metric is now

2M
ds? = (1— 22 [—dt2 + dr*ﬂ +12(d9? + sin? 0d¢?) (3.7)
r
We can again define null coordinates
u=t+r*, v=t—1r" (3.8)

Consider a null geodesic falling radially into the hole. Thus 6, ¢ are constant,
and the worldline will be given by solving ds? = 0 in the (¢,7*) space. At infinity
where the metric is flat the ingoing geodesic is ¢ + r = const.. From (3.9) we
see that taking into account the metric of the hole changes this to

t+r*=u=ug (3.9)
Similarly, a radially outgoing null ray is given by

t—r*=v=u1g (3.10)

3.1.1 Coordinate ranges

Let us now look at the ranges of the coordinates u,v. For the radial coordinate,
we see from (3.6) that the range r = (2M, 00) maps to r* = (—o00, 00).

Now consider the null geodesics (3.9) falling radially into the hole. By taking
geodesics starting from a given r* with different values of ¢ we can cover the full
range

—00 < ug < 00 (3.11)

Similarly, for radially outgoing geodesics, we can cover the full range
—00 < vy < 00 (3.12)
Suppose an observer starts outside the black hole, and decides tp fall into
the hole. At some future time, he will pass through the horizon of the hole. The
spacetime points where such observers cross the horizon are define the ‘future
horizon’. For an infa;;ing trajectory u = ug, we have

v=t—r"=ug—2r" (3.13)

As the observer approaches the horizon, we see that v — oo. Thus the future
horizon is given by the points

—00 < u <00, V=00 (3.14)
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3.1.2 Defining Kruskal coordinates

From (3.14) we see that our coordinates (u,v) ‘end’ at the horizon. We have
already noted, however, the the horizon is actually a regular place in the classical
black hole, and we should be able to smoothly pass to a region interior to this
horizon. To see the horizon as a normal place in our manifold, we would like
to have coordinates that are smooth at the horizon. In particular, we need the
horizon to appear at finite values of our coordinates, unlike (3.14). To achieve

this, we write
U=e, V=—e (3.15)

where we will choose the constant « later. Assuming o > 0, we see that the
region outside the horizon is

U>0, V<0 (3.16)

and the horizon itself is
0<U<o0, V=0 (3.17)

Thus we have brought the horizon to a finite position in our new coordinates
U,V, and if the metric is smooth at U = V = 0 then we can continue the
spacetime past the region (3.16).
Let us now see if the coordinates U,V can be made smooth at the horizon.
From (3.15) we get
dU = ae*du, dV = ae™*dv (3.18)

Thus the metric (3.9) becomes

2 el

— oM —oa(u—v)
) ———dUdV +1%d03 = — (r e

a2

ds* = —(1 dUdV +r2dQ3

(3.19)

r T

Now note that

. ; oM\ M
—a(u—v) _ —2ar® _ —2a[r+2MIn(55;-1)] _ —2ar 2
e e e 20 e <r — > (3.20)

We now see that if we choose

1
= 21
a= (3.21)
then we cancel the factor r — 2M in (3.19), getting
2M3 T
ds? = — 32— vy + r2dQ? (3.22)

The metric is now written in coordinates U, V, 0, ¢. The variable r should now
be thought of as a function r(U, V'), given through the transcendental relation

T .
UV =—(=—— —1)ez™ 3.23
(Gar — Ve (3.23)
Since we do not need the explicit form of this function for our analysis, we leave

it as the symbol 7 in most of our expressions below.
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3.2 The extended black hole spacetime

The Schwarzschild metric (3.3) described the region outside the horizon
—00 < t < 00, 2M <r < oo (3.24)

This region is covered by the Kruskal coordinates

U = (ZLM — 1)z e
V — _(ﬁ — 1)%64RI 67% (325)
with
U>0, V<0 (3.26)

Let us now look at the spacetime we get when we continue to other values
of U, V:

(i) First we note that the location r = 0 is a real singularity of the metric; the
curvature diverges as r — 0, and so we cannot remove the singularity here by a
change of coordinates. From (3.23) we see that r = 0 corresponds to UV = 1.
Thus the singularity lies on two surfaces

U>0, V>0, UV=1: future singularity
U<0, V<0, UV=1: past singularity (3.27)

We depict these surfaces as hyperbolae on the U,V plane in fig.?7?.

(ii) Since we cannot continue past the singularity at UV = 1, we will restrict
ourselves to the region UV < 1. We now note that the metric (3.22) and the
expression (3.23) for r(U, V') are symmetric under the interchange U + V. The
region (3.26) described the exterior of the hole, stretching from the horizon
r = 2M to asymptotic infinity. We can get a second copy of such a region, from
the range

U<0, V>0 (3.28)

Thus the wedge on the left in fig.?? describes a second asymptotic infinity.

(iii) We have seen in (3.17) that a future horizon is located at
0<U<o0, V=0 (3.29)
By the symmetry under U < V', we get another future horizon at
0<V<oo, U=0 (3.30)
Now consider the surfaces

—oc0o<U<0, V=0 (3.31)
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and
—c0o< V<0, U=0 (3.32)

We will call these surfaces the ‘past horizons’. The future horizons were surfaces
across which particles could not emerge from the hole to the exterior. For the
past horizons, we see from fig.?? that no particle can fall through these surfaces
into the hole from the exterior.

The wedge bounded by the future singularity and the future horizons is a
black hole: particles can fall into this wedge but not emerge out. The wedge
bounded by the past singularity and past horizons is called a ‘white hole’: par-
ticles can emerge from this wedge, but not go in.

The spacetime obtained above is called the fully extension of the Schwarzschild
metric. As we will see later, it is also called the ‘extremal black hole’. We can
introduce Schwarzschild like coordinates to cover each of the four wedges of
this fully extended diagram. For example, for the future wedge, we define the
coordinate r* as

- dr
dr* = 7(27Mﬁ (3.33)
which gives
7 =7+ 2MIn(1 — ﬁ) (3.34)
Define
Q=7+t =7 —1 (3.35)
and ~
_a_ v
U= e4M V= m (336)
Then the metric (3.22) becomes
2M dr?
ds? = (7 — 1)dt* — o T r2dQ? (3.37)

T

so we get Schwarzschild the coordinates inside the horizon with £ now being
spacelike and 7 being timelike.

This extended metric has several remarkable features. For one thing, we
found a white hole along with the black hole. This is not too surprising, since
the Schwarzschild metric (3.3) that we started with was symmetric under the
reflection of the time direction ¢ — —t. If the full extension of the metric
described a black hole from which nothing could come out, then we should also
find a region into which nothing can go in.

The extended black hole metric describes a vacuum spacetime; i.e., there
is no matter anywhere in the region > 0. One can imagine that the actual
spacetime will be quite different if we made the black hole by starting with
a ball of matter and letting it collapse to » = 0. collapsing a ball of matter.
For example, the white hole region has a singularity in the past. If we start
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with initial conditions that were nonsingular, then we would not have this past
singularity, and perhaps no while hole region.

The other remarkable feature of the extended metric is the appearance of
second asymptotic infinity — the left wedge. Again, this is not something we
would expect if we made a black hole by collapsing a ball of matter. there is an
infinite region outside the ball, and we can imagine that there may be puzzling
features inside the horizon region r < 2M after the ball collapses. But we do
not expect to generate by such a collapse a region which contains a whole new
asymptotic infinity.

We will see below that when a black hole is made by collapsing a ball of
matter, we do not get the white hole region or the second asymptotic infinity.
We do get a region inside the future horizon — the interior of the hole. The
existence of this interior region is responsible for Hawking’s puzzle with black
hole evaporation.

It may therefore seem that the full extended black hole is a mathematical
object with no physical relevance. But as we will see later, the information para-
dox can be posed for the extended black hole spacetime as well, and analyzing
the paradox in this context will lead to important clues about what quantum
gravity effects can do in spacetimes with horizons.

~_ future singularity -~

\\ -

~—————————

horizon Asymptotic

infinity

Asymptotic
infinity

—_——————————

Figure 3.1: The fully extended Schwarzschild geometry

3.3 The Penrose diagram

Before we proceed to study the black hole made by collapse, let us pause to
discuss a convenient way of depicting the various spacetime geomerries that we
will encounter.

The U,V coordinates cover all of our extended black hole spacetime. These
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coordinates do not have a bounded range. Thus if we try to draw the U,V
space on a sheet of paper, then we can cover only a finite subset of the whole
spacetime, and in particular we cannot see the picture of how the ‘points at
infinity’ border our spacetime.

We would like to bring these ‘points at infinity’ to a finite distance from
the points in the interior of our spacetime. To do this, we make a conformal
rescaling of the metric. Here the word ‘conformal’ means that at each point the
metric is scaled by a number

gav(x) = () gap(x) (3.38)

The factor Q%(z) depends on the position x, and will be taken to be large near
infinity; this is what will squeeze the infinite spacetime to a compact region.
This squeezing will introduce a distortion in our depiction, which we will have
to take into account when looking at the resulting figure. But one fact does not
change: if the separation between two points was null — i.e., ds?> = 0 — then it
will remain null after the rescaling (3.38). We usually draw null lines as lines
with slope +1, and this will remain the case after the rescaling. Since horizons
is are null surfaces, they will appear as a line with slope £1 in our rescaled
figure.

future
timelike
infinity

spacelike
infinity

past
timelike
infinity

Figure 3.2: Penrose diagram of Minkowski space

Let us first carry out this rescaling process for Minkowski spacetime. We
first write the spatial metric in polar coordinates

ds® = —dt* + dr® + r?d$2; (3.39)

Define
U=t+r, V=t—r (3.40)
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so that
ds? = —dUdV + r?dQ? (3.41)

where now the coordinates are U, V, 8, ¢, and
1
r= §(U -V) (3.42)
Since r > 0, we find the alllowed range
—co<U<o0, —o0o<V<oo, U>V (3.43)

We observe that the range of U,V is not finite. To make it finite, define

U =tanhU, V =tanhV (3.44)
Now we have 3 . o
-1<U<1, —-1<V<l, U>V (3.45)
and the metric is dU dv
ds? = —[—=—=|dUV + r2dQ? (3.46)
du dv
but 1 av 1
— =sech’U = ———, — =sech®V = = (3.47)
1-U0U2%2 dV 1-V2
so we have
1 -~ - .
ds* = [—dUdV + (1 — U*)(1 — V?)dQ?] (3.48)

(1-02)(1-V2)

So far we have just rewritten Minkowski spacetime in new coordinates. Now
make a conformal transformation, defining a new metric

Gopy = (1= U?)(1 = V?)gap (3.49)
This new metric is
ds'? = —dUdV + r?(1 — U?)(1 — V?)d0? (3.50)

Let us ignore the angular directions; since we have spherical symmetry there is
no nontrivial structure in these directions, and we cannot depict more than two
directions on our figure anyway. Thus we focus on the metric

ds'® = —dUdV (3.51)

This metric, with the coordinate ranges (3.45), gives the spacetime picture in
fig.3.2. Such a figure is called a Penrose diagram of the spacetime.

The null directions in this spacetime are U= Up and V= Vi; these are lines
with slope +1.
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future singularity

spacelike

>Pd] spacelike
I(?c?rmstgco infinity
asymptotic

infinity)

past singularity

Figure 3.3: Penrose diagram for the ‘eternal Schwarzschild hole’

Let us now find the Penrose diagram for the extended black hole metric
(3.22)

732M3

ds* = e~ = dUAV + r?d0? (3.52)

We squeeze the range of U,V by the transformation (3.44). We then scale the
metric as in (3.49). Dropping the angular directions as before, we find

d8/2 —

oM3 .
_3T e dUdV (3.53)

Let us now look carefully at the ranges spanned by our coordinates. The space-
time again ends at r = 0; this time there is a singularity there instead of a
‘simple origin of coordinates’. But r = 0 is now given by solving UV = 1 which
is

tanh ' tanh ™'V = 1 (3.54)

This is a curve in U,V space, and points beyond this curve are not in the
spacetime represented by the Penrose diagram, since they lie past the singularity.
Thus our coordinates span the range

—-1<U<1, —-1<V<1, tanh 'Utanh™'V <1 (3.55)

We draw the resulting Penrose diagram in fig.3.3.

The singularity runs along a curve from U = 0,V = 1to U = 1,V = 0.
Note that the rescaling that we have perform to bring infinity to a finite place
is not changed if we perform a further conformal rescaling at interior points of
spacetime. Thus we can imagine a further rescaling which makes the singularity
a straight line from U= 0, V=1toU = 1, V= 0; this is easier to draw, and
is typically what is done in drawing Penrose diagrams. The essential property
of the singularity we cannot change in the picture is that the singularity is
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spacelike; The constant r surface = 0 is inside the horizon and so is spacelike
instead of timelike.

3.4 The black hole formed by collapse

singularity

infalling
matter

flat
Minkowski
space

past
null
infinity

Figure 3.4: Penrose diagram of the black hole made by collapse of a shell

We have seen that the extended black hole spacetime obtained by extending
the Schwarzschild metric has some strange features. We expect these features to
be absent when we take a more realistic hole, which has been made by starting
with a nonsingular distribution of matter and letting this collapse to create a
horizon.

The simplest geometry for this matter is that of a spherically symmetric
shell, with infinitesimal thickness. We then find the following:

(a) In Newtonian mechanics, the potential inside a spherical shell is ® =
constant, so there is no gravitational field. A similar situation holds in general
relativity, where a result called the Birkoff theorem tells us that metric inside a
spherical shell is flat.

(b) In Newtonian mechanics the potential outside a spherically symmetric
body of mass M is is the same as the potential of a point mass M at the center
of the shell: ® = —GM/r. A similar situation holds in general relativity, where
the Birkoff theorem tells us metric outside a spherical body of mass M is the
Schwarzschild metric with mass M.

Thus we have the metric inside and outside the shell, and all we need to do
is relate the choice of coordinates on the two sides by matching conditions at
the shell.
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These matching conditions need some work however. The shell falls in the
metric which it crates by its own stress energy tensor, and so its trajectory is a
nontrivial function of its mass. The problem is simplified if we take a null shell,
which is composed of massless particles moving radially inwards. Since these
massless particles must move at the speed of light, the trajectory of the shell
can be written down immediately.

The metrics created by null shells are called Vaidya metrics. We will take
a single infinitesimally thin null shell, and find the full spacetime geometry by
matching coordinates on the two sides of this shell.

3.4.1 The metric inside the shell

Inside the shell we have flat Minkowski spacetime
ds} = —dt7 + dr® + r*dQ? (3.56)

The subscript f indicates the metric is ‘flat’. We have also placed this subscript
on the ti,e coordinate, to distinguish it from the time coordinate we will find
outside the shell. The r coordinate does not need such a subscript, since we will
take ds? — r2dQ? both inside and outside the shell. Thus r has the geometric
significance of being the proper radius of the angular sphere at any location,
and in particular the value of 7 just inside the shell will agree with the value
just outside the shell. The angular coordinates 6, ¢ can also be taken to be the
same inside and outside, so we do not give them a subscript either.
We pass to null coordinate by writing

up=tr+r, vp=ty—r (3.57)
The metric inside the shell then becomes
dst = —dugdvy + r*dQ° (3.58)

The inner surface of the shell describes a radial null trajectory in this metric.
By choosing th origin of t; appropriately, we can let this trajectory be

ur =0 (3.59)
Note that

_up—vp vy
= . (3.60)

3.4.2 The metric outside the shell

Outside the shell we have the metric corresponding to a mass M

32M3
e~ dUdV 4 r2dQ? (3.61)

2 _
dspy = —
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We have added a subscript K (for Kruskal) to U,V to differentiate them from
the Minkowski coordinates uy, vy inside the shell. Outside the horizon, i.e. in
the region V < 0, we have

_u

U=eit, V=—e 171 (3.62)

where
u=tg+r*, v=tg-—r" (3.63)

and tx goes over to the usual time coordinate at infinity.

The outer surface of the shell must follow an ingoing null geodesic in the
metric (3.61). This geodesic will have the form U = Uy for some constant Uy.
Recall that U = Explu/4M], where u = ¢t + r*. We can choose the origin of ¢
to set u = 0 along the shell, which gives

U=1 (3.64)

3.4.3 Matching coordinate systems

Consider two infinitesimally separated points on the trajectory of the infalling
shell. We have noted that the value of r is a geometric object, since it gives the
proper radius of the angular sphere. Thus the separation dr between these two
points must be the same on both sides of the shell.

On the inner surface of the shell, we have

S Ak S (3.65)

" 2 2

where we have used (3.59). Thus
1
dr = —§dvf (3.66)

On the outer surface of the shell, we use the relation (3.23) giving (U, V).
Noting that U = 1 along the trajectory of the shell, we find

dV = — e dr (3.67)

402

We substitute the value of r from the inner side of the shell, since this is given
by the simpler expression (3.65). We get

dr = — = e~ TV = et qV (3.68)
T

Equating (3.66) and (3.68), we get

16M2 -,
OMZ % av (3.69)
vy

d'UfZ—
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This has the solution

AM) _»
%e—ﬁ +C (3.70)

V =

The constant C is fixed by looking at the location of the horizon r = 2M. Inside

the shell, we see from (3.60) that the horizon is vy = —4M. Outside the shell

we have seen that the horizon is at V' = 0. Thus C' = 0, and we have

4M vr

V= %e*ﬁ (3.71)

We have seen that trajectories that start on opposite sides of the horizon
diverge away from the horizon on opposite sides:

(a) The trajectories with V' < 0 lie outside the horizon, and eventually escape
to infinity where the natural coordinate is v (given by (3.62)).
(v ¢+ 4M ) )

(3.72)

v=—4MIn(-V)=vy—4MIn (— i

For trajectories that start very close to the horizon, we have vy +4M — 0, and
we observe a logarithmic relation between the Minkowski coordinate vy and the
coordinate V at infinity

(3.73)

4M

(b) Trajectories with V' > 0 lie inside the horizon, and eventually fall into the
singularity. We will consider out full quantum state on a spacelike hypersurface
where we catch these trajectories before they reach the singularity. We need to
define modes for this region of the hypersurface, but the precise choice of these
modes will not be relevant. As we have noted before, there is no unique definition
of particle modes if we are not in a region where spacetime is essentially flat.
The spacetime inside the hole cannot be approximated by a flat metric over
distances of the order of the wavelength of Hawking quanta: the wavelength of
these quanta is ~ M, and the curvature length scale of the hole is also ~ M.
But the absence of a unique definition of particle in the black hole interior will
not be relevant to us, since we focus on the particles that have been emitted by
the hole. We are interested in how these emitted particles are entangles with
what is inside the hole, and this entanglement itself is independent of how we
define particles inside the hole.

To carry out or computations, we make a choice of particle modes in the
black hole interior in a manner that is similar to the definition of particles in
the exterior. In the exterior, the natural coordinate far from the hole was v,
defined through V' = —FExzp[—v/4M]. In the interior we define

V = eanr (3.74)
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Thus Y
5 =4MIn(V) = —v; + 4MIn ((”ﬁ)) (3.75)
4M
For trajectories that start very close to the horizon, we get
5 (U r+4M )
~4MIn (| —— 3.76
0] n < i (3.76)

3.5 Wavemodes

Let us now look at the wavemodes that we will use to define particles in various
regions of our black hole spacetime.

3.5.1 The eikonal approximation

Let us now see how to construct the wavemodes we need in the eikonal approx-
imation. Consider the modes that lie outside the horizon, and will each infinity
to give the emitted Hawking particles. In this region our metric (3.22) has the
form

ds* = —F(r)dudv + r2dQ? (3.77)
where
u=t+r*, v=t—r* (3.78)
and dr* 1
= - —w (3.79)

K
Here the variables in the metric are u,v,0, ¢, and r is a function r(u,v).

In general a solution of the waveequation (¢ = 0 will not be purely outgo-
ing or purely ingoing; this is because the nontrivial dependence of the metric
coefficients on r reflect each of these two kinds of waves to the other. But we
can imagine that if the mode had a wavelength much shorter than the curvature
scale ~ M of the geometry, then it would travel straight out to infinity without
significant reflection. Outgoing null rays have u = constant, so we could try an
ansatz

h o~ Yin (0, p)e™ ™ (3.80)

where the condition of short wavelengths is
B> L (3.81)

M

We will focus on spherically symmetric modes, since most of the Hawking emis-
sion is in these modes. Then the angular harmonic is Y o = 1. But this ansatz
needs a little correction: we would like to ensure that the inner product be-
tween two modes (hg, hys) is conserved as the mode evolves. This will introduce
a slowly varying prefactor in our ansatz

hy = A(r)e” kv (3.82)
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Let us find A(r). The waveequation is
b
v—9g

We have for the metric (3.77)

O (9" =9bnu) =0 (3.83)

1
g = — V—g= 5F(r)r? sin ¢ (3.84)

Then (3.83) gives
Oy (TQA(T)(—ik)efik”) + 0y (TQA(r)we*ik”) + 0y (TQA(T)Me*““’) =0 (3.85)
which yields
—ikdy (r*A(r)) + 0y (r?A(r) ») — ikr® A(r) u + 9y (r*A(r) ) =0
For large k, we keep only the terms containing a factor k&, which gives
Ou (r*A(r)) +1%A(r) =0 (3.86)
Note that for a function Q(r), we have

T = la-2hor e

dr* u 2 T

0uQ(r) = Q'(r)

where we have used 7* = (u — v). Then (3.86) gives

A'(r)+rA(r)=0 (3.88)
which has the solution o o
Alr)=—=——+ (3.89)
r (47r2)2

where in the second step we have rewritten the result in a way that shows the
physical origin of the prefactor A: the expansion of the angular spheres leads
to a drop in the amplitude of the mode as it moves outwards. Thus our modes
in the region outside the hole have the form

c

— —ikv
hy = Tt (3.90)

As we will see below, it turns out that the norm for these modes is conserved
through the evolution, not only in the large k approximation but for all k.
But it should be noted that these modes are only approximate solutions to the
waveequation, and need an order unity correction when k ~ 1/M.

The generic quanta emitted by the hole have k ~ 1/M, rather than k > 1/m.
Why then are we using the eikonal approximation? There are two reasons:
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(i) The important property of the emitted quanta is the fat that they are
entangles with quanta that fall into the hole. This nature of this entanglement
will be captured by the modes used in our approximation, even if the overall
magnitude of entanglement is off by a factor of order unity.

(ii) The temperature T of the emitted radiation is captured exactly by the
modes in the eikonal approximation, even though the rate of radiation is off
by a factor I'[k] of order unity. We will see that the factors I'[k] are greybody
factors, present even in the radiation from a normal body and dependent on
the shape and size of this body. The temperature on the other hand is a more
robust quantity independent of the geometry of the body, and can be read off
from the detailed balance between the body and its radiation.

3.5.2 Modes in the flat spacetime region

As mentioned before, we are interested in spherically symmetric solutions. We
wish to focus on modes that are outgoing near the horizon. In a spherically
symmetric geometry, there are, strictly speaking, no purely outgoing or ingoing
modes: an ingoing mode reaches the origin » = 0 and then reflects back as an
outgoing mode. But we are going to use an eikonal approximation, where we
look at modes that have wavelength A\ < M near the horizon. and just follow
wavefronts as they move away from the horizon. Thus we can look at short
wavelength outgoing modes when they are near the horizon. We write

vy = —4M (3.91)
Then vy = vy at the horizon. Let us define
- #ﬁe_ika(vf_@f) — #ﬁeika(r—w—“/ﬂ (3.92)
V2 2k, V21 2k,

Here k, > 0, and we see that we have a mode where the phase fronts move
radially outwards at the speed of light. The factor 1/(4M) arises from m

1 1 1
VAarr2 - 47T(2M)2 o m
and is needed to normalize the spatial integral when we compute the inner
products below. We find that

(frar frr) = i/dT(47T7“2) (f;aatffk; _flzglatffka>

.

(3.93)

Q

i/dr(4M)2 (f;:aatffk; - ffczatffka)

~ _(kat ko) i(ka—k!)(r—2M) —i(ka—Kk.)(t s +2M)
7(2 W dre e
T)\/ 1Rg
_ (ka + k;) (27'('(5(]6(1 _ k/a)) e—i(ka—ké)(tf+2M)

(2r) /A1,

= (ke —K)) (3.94)
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In the third step we have made the approximation of short wavelengths. The
r integral runs over (0, 00), but we are looking at highly oscillating modes near
r = 2M and so expect the expect the integrals over our wavepackets to have their
contribution from a small range of r around r = 2M. Thus we can formally
extend the range of the r integral to an infinite range on both sides of the
horizon; this gives the delta function. Proceeding similarly, we find the full set
of inner products

(fka?fk{l) :6(ka_k(lz)v (fl:avfl:;) = _6(ka_k;)’ (fl:,lafkg) =0 (395)

3.5.3 Wavemodes at infinity

Near infinity the natural time coordinate is t. We define the wavemodes

1 1 1 1 e
Y = e thev — etko(r—t) 3.96
ko V271 2k, (4mr2)2 V212K, (4mr2)2 (3.96)

Suppose we are looking around a point 7 > M. Then the logarithm in r* =
r+2M log(55; —1) oscillates slowly compared to the term r, sinced, logr = 1/r.
We therefore have

(ko> 9x) = Z'/057“(47”2) (g;;batfgké - gzﬁgjatfgkb)
(et k) dret(Fo—kp) (r+2M log( 55 —1) ,— ik —k} )t
(2m)/ARo k]

—~ (ko + k;) drei(kbfk{,)(rj%Mlog(ﬁfl)efi(kbfk{,)t

(27) /AR K,

~ O(ky — kp) (3.97)

where we have again extended the range of the r integral to an infinite one on
both sides of 7. Thus we have

(gkbagkg) = 5(kb - ké)? (91:“92;)) = _6(kb - kg)7 (g;;ygk{,) =0 (398)

We will consider these modes in the region near the horizon when we are
computing the inner product with the modes fi,. Thus let us check that the
modes g, have the correct normalization when considered near the horizon. If
we follow the lines v = constant back from infinity to the vicinity of r = 2M, we
find that they lie close to but outside the horizon. Let us use the Schwarzschild
coordinates here, considering the hypersurface ¢ = constant as out spacelike
hypersurface. The volume element is

dy = 4mr? (3.99)

(1- 201
The normal derivative involved in the computation of the inner product is

On = (Qtt)_%at = TM)%@ (3.100)
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The inner product is

. dr * *
(gkwgk,@) = Z/l_j(‘lmz) (kaatgk; *gkgatgkb)

_ (kb + kl/)) dr ei(kaik;)r*eii(k;bfkt;)t

(27)\/kp k], — M
(ky + kp) g+ i (Ba—koIr* =ik, — ki)t
(27)/Akok,

Ok — ky) (3.101)

which agrees with (3.97).

3.5.4 Modes inside the horizon

Inside the horizon, we can introduce Schwarzschild type coordinates (3.37), but
now t is a spacelike direction and the direction of decreasing r is the forward
timelike direction. We define

1 1

h. =
he T 2mv/2k, (4nr2)

e iked (3.102)

To compute the inner product, we take a spacelike surface r = r., with
0<r.<2M (3.103)
The spatial volume element is
ds = 4wr2dt(¥ —1i (3.104)

The normal derivative involved in the computation of inner products is

0, = ()0, = (2 1)k, (3.105)
The inner product is
(hoshig) = =i [ (amr®)at2E — 1) (i 00k — hi0hn,)
= ket ko) My A ek it
(27)\/4kckL r dr

(ke + kL) deilke kTS gmilhe—KL)t

(2m)+/4k kL,

(ke — kL) (3.106)
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3.5.5 The mode expansions

In the flat space region we set

¢ = / dk, (fkadka + le,dla) (3.107)

On the late time slice we have a part at infinity and a part inside the hole. Thus
on this slice we write

$= / dky (hkbékb + h;;bi);h) + / dk, (ﬁkc &, + if,;cegc) (3.108)

Equating the two expansions, we get

[t (rn, + fial,) =
/ dk, (hkbékb +h,’§bl3£b> + / dk, (ﬁkcékc + B;:Ca;c) (3.109)

Since the modes hj, and h)c are localized on very different parts of the late
time hypersurface, they have vanishing inner products

(Arys ) =0, (B, ha,) =0, (hiyohii) =0, (ki hi) =0 (3.110)

We can isolate the operator by, by computing (hg,, -) on both sides of (3.109)

by, = /dka ((hkz,yfka)&ka + (hkb»flja)dia) (3.111)
Similarly, we find

Cr, = /dka ((ilkcafka)dka + (ﬁkcaf;a)dza) (3.112)

i, = [ b (000 S, + 052031, (3.113)

= [ b (G S, + 5204l ) (3.114)

3.6 Computing the inner products

3.6.1 Computing (hy,, f7)
We have

1 1
fe, = etka(vy+4M) (3.115)

V21\/2k, (47r2)3
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h;;b — 1 1 leikbv
V2my/2ky (412)2
R
We have
(oo i) =i [ dogdfu® (43,00, i, Fi,9ushi)

= i [ n)dey (b7,00, 87, + @ i 0E)

= i/(87r7"2)dvf (hr, 0v, fx) (3.117)
We find
(hkb’f;a) _ i/O:M dvf;ﬂ\/éﬁemb[ufziMln((vf4+1\3M))](ika)eika(foM)

—4M v
_/ do 1 /@eikb[uf—z;Mln(—( f;\jM))]eika(vf—&-MW)
f 2w kb

—00
(3.118)
Let us define
X = —(vf +4M) (3.119)
and write k, = k Then we find
* > 1 [k ik[—X—4AM—aMIn(25)]  —ika X
(hi, fr)=— dX —1/—e anr )lg T e (3.120)
@ x—o 27V k
3.6.2 Computing (b} , f;)
We have
i 1 1 —iked
. = e 'te
ke V21 2k, (47r2)2
1 1 Cike[—v+AM In( LLHM)
T ook, (dm2)t oG )
(i fi) = i [dvgaon? (hnn, 55, - 5,0, 1)

i / (87r*)dvy (hi, v, fr.) (3.122)
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We find
S . N e 2 1 —iko[—vppaM In(SLEEDN
(hy fr) = Z/4Mdvf%\/me [—vs+ ( I )](zka)ek“( FHAM)
a've

oo . (vp+4M)
— / dvfi N ﬁe_Zk“[_”fJ"le hl( f4M ]eika(11f+4M)
—AM 27T kc

(3.123)

Let us define
X = (vy +4M) (3.124)

and write k. = k. Then we find

e i )= _/oo dXzi %e—ik[—X+4M+4Mln(ﬁ)]eikaX
a o aV

3.6.3 Relating the two computations

We go to a new contour, where we have new values of X. Thus we get

(hes fi) = = / dx L [ Fa ikl anant n( 2 )] ik, X

X=0 2w

_ _/_OC ax L o~ k[ X+AM+AM In(557)] ika X
X=0 2r V k

_/oo (—dX’)i /%e—ik[x’+4M+4M111(%)+4M(i7r)]e_ikax/

X'=0 2w
AT Mk /OO dX’i lﬁe—ik[X’+4M+4M ln(%)]e—mx’
X7=0 2r V k
(3.125)
where in the last step we have written X' = —X.

Thus we find that

(hie, 7)) = —€* ™M (hy, f) (3.126)

Thus the combination

by + e 4mMke (3.127)

has only annihilation operators dLa and no creation operators dLa. This this
combination annihilates the vacuum |0),

(Bk + e—‘“’M’féD 10)0 = 0 (3.128)
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3.7 Correlating wavepackets

The expression (??) shows that modes b, near in finity are entangled with
modes ¢ inside the hole. We see a correlation in fourier space labelled by
k: the excitation level of fourier mode k outside the hole is correlated with the
excitation of the same mode k inside the hole. A fourier mode however describes
a function that is delocaiized in space: for example, a wavefunction Fxp|ikr]
extends over all values of r. By contrast, in our earlier heuristic picture of pair
creation we had visualised particles that were rather loalized in positon space:
when an electron emerged from the hole, a positron fell in, and if at a later
time a positron emerged from the hole, then an electron would fall in at that
later time. Thus we would like to rewrite our state (?7?) in a way that exhibits
some locality, so that we can see particles being emitted with reasonably well
locaized wavefunctions, and also see their infalling partners having reasonaby
well localized wavefunctions at correponding positions inside the horizon.
We proceed as follows:

(i) We wish to make wavepackets that are reasonably localized in position
space. This means that we will need to have a nonzero spread in the correspond-
ing momentum k. Thus let us start with k space. Our wavefunctions have the
form ~ FExp|[—ikv] with k£ > 0. Thus we take the interval 0 < k < oo and divide
this into intervals of length €. Let the nth interval extend over

ne <k < (n+ 1, —-0<<n<o (3.129)

In this interval, we take a complete basis of functions of k:

- 1
Hnok) = ¥, me<k<(n+1)e
= 0  otherwise (3.130)

where —oo < s < oo is an integer. The functions ﬁns(k) are orthonormal

/dkH:,s(k;)Hn',S’(k) = 5n,n'6s,s’ (3131)
and give a complete set of functions on the like —co < k < co. Our position
space wavepackets will be defined as the fourier transforms of the Hms. Since
fourier transformation can be thought of as just a change of basis for the func-
tions, the orthonormality of .F:Tn,s implies that our position space wavepackets
will be also be automatically orthonormal in the norm [ dz|H (z)|*.

(ii) Define the position space wavepackets

1 o ) ~
Hn,s(v):ﬁ / dke " H,, (3.132)
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Since H,, ,(k) is localized near wavenumbers k ~ ne, we see that H, ,(v) will
be reasonably localized in momentum space: Ak ~ e. To see where H, 4(v) is
localized in position space v, note that ﬁns(k) is oscillating in k as e***/¢. Thus
the k integral in (3.135) will damp out the integral unless this phase oscillation
is cancelled by the oscillation from the factor e~**¥. Thus the wavepacket will

peak around
s

Un,s = = (3.133)
€
The spatial width of the wavepacket is
1 1
Av~ — ~ = 3.134
UYAE T e ( )

Thus we have wavepackets of length ~ 1/e, peaked at locations that are sepa-
rated by a distance ~ 1/e.
Let us now compute the wavepackets (3.135) explicitly

]. (’I’L+1)6 isk

e 1
H,(v) = Ners dkéﬂ’w%ee

1 ei(nJrl)(sfve) _ ein(sfve)

\/ﬂ\/E i(2—v)
V?a”*k@ﬂ»“ﬂﬁswﬂ
o [L(s — ve)]

Thus we have a wavefunction oscillating in v with a wavenumber ~ (n + 1)e,
modulated by a facto of the form sinz/x, which peaks at £ = 0. This peak is
at v = s/e, as anticipated above.

Note the reverse transform (3.135) is

(3.135)

1 > )
Hn,s(k) = \/%/ dvelkan,s (3136)

(iii) Let us now turn to the expansion of the field operator b:
3= / ak (behu(v) + bR* (v)) (3.137)

The functions h(v) are normalized not in the L? norm, but with the inner
product (??). Thus these functions are obtained by starting with the functions

1

—ikv
qk(v) N (3.138)

which are normalized as

[ dvaiwyaw) = b0 - 1) (3.139)
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and adding a factor 1/v/2k

1
7ﬁ2k gk

We can similarly make mode functions based on the wavepackets H,, s(v) which
are normalized in the L? norm (3.131). In fourier space these functions were
peaked around k = ne with a small width e. Thus we can take

hi(v) = (v) (3.140)

(v) (3.141)

as mode functions that are orthonormal in the inner product (??). Note that
we have used the same symbol & for these wavemodes, and will distinguish them
from the hi(v) by the extra index they carry. We can write the field operator
using these modes

=3 (Bushns(®) + B 1 (0)) (3.142)
Equating (3.137) and (3.142)
/ dk (b () + b)) = 3 (b shas(0) + B 00 0))  (3.143)

n,s
Taking (hj,-) on both sides, and noting that (h},h},) = —6(k — k'), we have
[;L == Z (Z’n,é‘(h;;v hn,S) + EIL,S( s Z,s)) (3.144)

‘We have
(hih%,) = i / v (i (0)B, 1, (v) — (Dhi (0))15 4 (1))

—2i / dv(0yhy(v))hy, ((v)
1

1 , 1
= -2 d’u—— —ik)e v H*
V21 A2 ( ) one ™°

dv—— [ —zka*
/ V2T

- 7Hn s(k)

ne

—H;, (k) (3.145)

(v)

%

where in the first step we have done an integration by parts on the first term
in the inner product, and in the last step we have noted that H,: (k) is peaked
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sharply around k = ne. A similar computation gives (h}, hy s) = 0, since ffnys
vanishes for wavenumbers k < 0. Thus we have

bl ~ > Hy (k)b (3.146)

n,s

(iv) Now consider the operators éL, Let us define a new basis of operators
éihs through

e =" H, (k) (3.147)

The purpose of this definition can be seen by looking at the exponent in (?7)

/ R / dke4™Mk <Zﬁ;7s(k)l};s> > Hyw(k)EL
0 0 s 0
(3.148)

The product ﬁfb,s(k)f[n/,sf(k) vanishes unless n = n’, and when n = n’ then it

has support over a narrow range of k with k ~ ne. Thus the factor e 4™M* is

almost constant over this range of km and we can take it out of the integral:

o0 o0
/ dke’“MkbLé}; ~ 67471'Mn6/ dk (Z H:‘L7s(k)bl7s> Z Hn/,s/(k)él/,s/
0 0 s v
Z Z 6—471'1\/[7161;11’5611,,8/(Sn’n/(ss’sl

n,s n’,s’

= ) e Ml el (3.149)

n,s-n,s

where we have used (3.131). Thus the state created by Hawking evaporation
can be written as one where the excitations at infinity in the wavepackets h, s
are correlated with corresponding wavepackets in the interior of the hole.

(v) Finally we consider the nature of the wavepackets for IA)ms and &f .. We
have written the wavepackets for b as functions of v, but we can consider them
on a spacelike hypersurface ¢t = to. Since v = t — r*, we see from (3.133) that
the wavepacket for bl _ is localized around

n,s

=t — (3.150)

S
€
Thus the modes for larger integers s are localized closer to the hole, indicating
that they are emitted later.

Now consider the modes for é};,s- The field operator inside the hole is ex-
panded as

b= /dk: (ékﬁk(ﬁ) + é;iz;(ﬁ)) (3.151)
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With the change of basis (3.147) we have

¢

[0S (6o (90 () + 2, o (0FE(D))
=¥ (én,siin,s(v) n éLvsiL:‘L,s(v» (3.152)

n,s

where the mode functions are now

h,s(v)

I
—
Q
>
&

w

—
=

N

(3.153)

The integral over k peaks at the location where the coefficient of k in the expo-

nent vanishes: s

2 _p=
€

ol ®»

—F+t=0 (3.154)

We look at these modes on a surface 7* = 7. Then we see that larger values of
s correspond to later values of .

Putting this together with the behavior of the b modes, we get the following
picture. Larger values of s correspond to later emissions. The corresponding
particles outside the hole are closer to the hole on a slice ¢ = t3, and the
corresponding particles inside the hole are at later times  on the slice 7 = 7.

—4nME Bt AT
— B, C
|0>a— || e ¢ ks ks
k>0,s

0)s ® |0) (3.155)
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